/\wﬂ»/\/v)ﬂ
s

KEXSOEEMARY MU pld =1, 1,00 £ 45° Df%EAL, r=(0, 1, 1) &%
15° DfEET, TOEE p RO &, GRR LK)

—

p - (o, b, Yy eH<e
(—g*}}: (/E ; /}')/ = f;ﬁ_/ (_ﬂ:,gz%,}
ae4 bt €= 4 w0 TH3

I Y

P93 {,b!f’ Cow 45° Tek3oS ¥ o £11SY

0&+b & 3\\!3:;‘,._?&% - 0&"!’[’);3 ,@
REESS

PoF < IPI[Flem¥l Tgao5,

b+C= 3-/2 73{ B 3““@_

@M GA=3-h @ Ce3-brlz & E ppriY AT
(3-h)% 4 b +(z«t,») -9

5w~zv+%m
‘QL”N@'&& ol 3 =0

(b=LOb=3) =0 = b=].3

prlaez G=0=2
hz3aprpg A=(* 0

kvl 3

1 % http:/ /www.mathtext.info/



